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i 3 cm &<l daluadl (1)
i _________________ . l=6cm
y 2cm w = 2cm
6cm h=3cm
‘ol
P =21+ 2w
=2x6)+(2x2)=124+4=16cm
:auila)l aalutoll
LA=PXh
=16 X 3 = 48 cm?
:02cld)l aalo
B=IlXw=6xX2=12cm?
2B =2 %X 12 = 24 cm?
:ay<) daluwoll
SA=LA+2B =48 +24 =72 cm?
822 ()
V=BXh
=[XwXh
=6X2X3
= 36 cm?3
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/i ______ [l=4cm
/,’ 4 cm w=4cm
4cm h=4cm
s unoll
P =21+ 2w
=2x%x4)+(2%x4)=8+8=16cm
:anila)l daluoll
LA=PXh
=16 X 4 = 64 cm?
:0acld)l aalo
B=IlXw=4Xx4=16 cm?
2B =2 X 16 = 32 cm?
;&< daluol
SA=LA+2B =64+ 32 =96 cm?
paa ()
V=BXh
=[XwXh
=4X4X4
= 64 cm?3
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